
6E

1) (7)3 = 343

2) 54 =625

3) 105 = 100,000

4) (-8)2 = 64

5) (811/2)1/2=811/4=3

6) [(36)1/2]3 =63 = 216

7) [(XB)1/4]1/2 = XB/B = X

8) (10001/3r5=10-5= , __ 1 _
1

or-
105

9) (X - 2)(X -2)

10) (X + 5)(X + 5)

11) (X - 6)(X - 6)

12) (3X - 1)(X + 5)

13) 3X2 + 15X - 42 = 0 3(-7)2 + 15(-7) - 42 = 0
3(X2 + 5X -14) = 0 147-105-42=0 ../

3(X + 7)(X- 2) = 0
3(2)2 + 15(2) - 42 = 0X=-7,2 12 + 30 - 42 = 0 ../

14) X2-X-20=0 (5)2 - (5) - 20 = 0
(X - 5)(X + 4) = 0 25-5-20=0 ../

X=5, -4
(-4)2 - (-4) - 20 = 0.
16 + 4 - 20 = 0../

15 8(2X) 2(3X) __ 5_ =
) 3X(2X) 2X(3X) 6X2

16X - 6X - 5

6X2

10X - 5=---
6X2

16) (X - 3)(X + 2)_ 4X + 3 _(X + 3)(X - 2)
(X - 2)(X + 2) XL 4 (X + 2)(X - 2)

X2 - X - 6 - 4X - 3 - X2 - X + 6 =
X2 -4

-6X - 3

XL4

17) !.- _X(3)
9 3(3)

X(2) 5(3)
-+-
12(2) 8(3)

8 - 24X
6X+4s

1 - 3X :M"B-.--
%3 2X2+15

2~ .24"--x'2~

18)
(X-8)~

~)

X-8
X-4

~(X-4)
~

19) ~- ..Jf5
..J3..J3 --3-

1,ff 2.[2 ,ff ~
20) -----=----=,ff ,ff ..J8 ..j2 7 '4...

2

,ff (2) ..j2(7)
----r(2f - 2(7) =

2,ff -7..j2
14

<,

7A ,.
1) i

2) 7i

3) 8X3i

4) _1_1 i
12

5) 2i + 10i = 12i

6) 2(3i) + 6 = 6i + 6

7) ,J4X2..j5...Ff = 2Xi..j5

8) i-/A + i..,f3

9) 3P.J4.J3 + 4P..J8f..j2 = 6i.J3 + 36i..j2

10) 13i -18i = -5i

11) 10i +4

12) x..J3 + 2i

13) (i2)(i2) = (-1)(-1) = 1

14) iB= (i2)(i2)(i2)(i2) = (-1)(-1)(-1)(-1) = 1

15) (i2)(i2)(i) = (-1)(-1)(i) = i

16) i9 = (i2)(i2)(i2)(i2)(i) = (-1)(-1)(-1)(-1)(i) = i

17) (-120)(i2) = 120

18) 3i(i)(13) = 3(i2)(13) = -39

19) -{-f.JT..J36 = 6i2 = -6

20) 2(15)(6)(2i) = 360i

7B

1) 15i

2) 11i

3) 7A2i

4) ~i=2i
5

5) 8i - 4i =4i

6) 18 - 4i

7) ...Ff.J9X8..J5Xf =3X4i.,J5X

8) Xy2i + Xy2

9) 6..p.J2.JfOfS-5$ = 68../2(10) -5(5) =

60i"f2 -25

10) 4i..j2 + 10i..j2= 14i..j2

11) 3Ai + 9Ai = 12Ai

12) X2i + 4X2i = 5X2i

13) 6(-1)(-1) =6

14) i10 = (i2)(i2)(i2)(i2)(i2) = (-1)(-1)(-1 )(-1)(-1) = -1

15) (i2)(i2)(i2)(i) = (-1)(-1)(-1)(i) =-i

16) iB= (i2)(i2)(i2)(i2) = (-1)(-1)(-1)( -1) = 1

17) 50i2 = -50

18) 14i2 = -14
(f)
~s.
o·
::J
U>
enm
~
OJ

19) -75

20) 6(13i)(2)(9i) = 1404i2 = -1404



7C

1) ..[81n =9i 15) 2X2 + 9X - 11 = 0
(2X + 11)(X - 1) = 0

X=-11/2 X=1
2) ~..[.1 = 13i

3) ~64X2 -1 = 8Xi

2(-11/2)2 + 9(-11/2) -11 = 0
121/2 - 9912 - 22/2 = 0 ../

2(1)2 + 9(1) -11 = 0
2+9-11=0 ../

4) fi6 -Fi= ~i'V2'5 5

5) ..J4..f1+ ..J36..pi =

2i+6i=8i

16) [1/4XL9 =0]x4
X2 -36=0
(X - 6)(X + 6) = 0
X=6 X=-6 1/4(-6)2 - 9 = 0

9-9=0 ../

1/4(6)2 - 9 = 0
9-9=0 ../

6) ~..[.1 + ,J1OO = 3i + 10
17) ~-'- X

XL 16 . 4-)(=

7) 5..j4 ..J2..[.1 + 7.J121 ..J2 ..[.1 = 2xe-- ~ -2X
.D'--4i(X + 4)' ~ = X + 4

1Oi-!f + 77i -!f = 87i -!f

8) -126i2 = -126(-1) = 126
18) !-~=Js-,k-=

JISs--k=
2$(2) ../2(5) _ 4-$ -5-$
5(2)- 2(5) - 10

9) i3 = i2 . i = -1i = -i

10) (4·14i)(3 ·7) = 1,176i

11) (5)2(5)3 = 55

12) (X4/3)(X4/3) = X8/3

13) (10,0001/4)3 = (10)3 = 1,000

14) [(X4)1/2]1/3 = (X2)1/3 = X2/3

19)
2 3

('1'4 X 102)('8;1 X 10-5)

(~X 10-2)
~1

6 X 10-3
--- = 6xlO-1
1 X 10-2

20) R __9_+~
4y4 XY y2

,. I

7D

1) .J16.f-1 =4i 14) [(32)1/5]1/2=21/2 or..J2

2) 12 15) [1/9 X2 + 25/9 = 10/9 X] X 9
X2 + 25 = 10X
X2 - 10X + 25 = 0
(X - 5)(X - 5) = 0

X=5

3) 5X2

4) ~i
5

(5)2 - 10(5) + 25 = 0
25-50+25=0../

5) 3i + 9i = 12i 16) 2(4X2 - 20 + 25) = 0
2(2X - 5)(2X - 5) = 0
X =5/2

6) 4+ 6i
4(5/2)2 - 20(5/2) + 25 = 0
25 - 50 + 25 = 0 ../

7) ..j4$+2~$ =2$+6$ =8$

X-5 X+617)
X2 -10X + 25 X2 - 3X -10

8) -72i2 = -72(-1) = 72
~ ..(X---"S)(X + 2) X + 2

.()(--SJ.()(--SJ X+ 6 = X+6
9) 4i2 = 4(-1) =-4

18)
l-~=H-j§=

5$ 3$ _ 5$-3$
(5)3 - (3)5 - 15

10) (7 '8i)(2 '9i) = 14 ·72i2 = -1008

11) (49)(4)=196

12) (10)(10)2 = 1,000
19) (3 X 10-2)(6 X 107)(4 X 102) =

72x107=7.2x108

20) 3XA - 7XA - 5XA = -9XA

(f)
~
S-
o'
:Jen
-.....
o
~
o

1
13) (90)-1 = 90



7E

1) 2i

2) 11i

3) Xi

4)~i
2

5) 4i + 5

6) 9i + i = 10i

7) 5..J4.J3.,ff + 7...tE .J3~ =

10i.J3+35i../3 =45i../3

8) 200i3 = 200(i2)(i)= -200i

9) 3i4 = 3i2 i2 = 3(-i)(-i)= 3

10) (6·5)(5,[i6.,ff) = (30)(20)i = 600i

11) (X2)(X4)= X6

12) (1)2(X)1/3 =X1/3

13) (2)-2 = .L = .L
22 4

14) [(64)1/2]1/3=81/3~2

15) [4/25X2 = 1] x 25
4X2 = 25
4X2 - 25 = 0
(2X - 5)(2X + 5) = 0

X = 5/2 X = -5/2

16) [9/4X2 - 4 = 0] x 4
9X2 -16 =0
(3X - 4)(3X + 4) = 0
X=4/3 X=-4/3

•

4(5/2)2 - 25 = 0
25 - 25 = 0 ../

4(-5/2)2 - 25 = 0
25 - 25 = 0 ../

9(4/3)2 - 16 = 0
16-16=0 ../

9(-4/3)2 -16 = 0
16-16=0 ../

17) 2X2+ 2X - 4 -i- 6X2 - 6X - 36
5X - 5 3X + 15

~.!k-1J
5.P'-"r)

X+5
5X -15

18) $-~=~-$=
2.,ff 1_

~-2-
2.,ff(2) 1(7) _ 4$ -7
7(2)- 2(7) - -14-

19)
6

(7 x 1O-7)(Nl x 10-4)

(S..l< 103)

3(X + 5)
..e(X-3)~
3

42 X 10-11 = 42 X 10-14= 4.2 X 10-13
1 X 103

4X X 5 -5X 5
20) ----+-=-+-

A A A2X A A2X

8A

1) A-B 12) i2(4- 5i)
(4 + 5i)(4 - 5i)

2) 3X +8 -4+ 5i
-4-1-

3) 6-..,f2

4) 1 +5i
13) Z (Z -.,/5)

(Z +.,/5) (Z -.,/5)

5) 4B2-16

6) 9 - 4i2 = 9 + 4 = 13

4i2 - 5i3

16 - 25i2

Z2 - z.,/5
Z2 - 5

14) 8(8 +.J8) = 64 + 8,/4@
(8 --J8)(8 +-J8) 64 - 87) 4 - 49i2 = 4 + 49 = 53

8) 16-7=9

8 2
..M'+-115".J[

..a.6'
7

9) X(3 - 4i) 3X -4Xi
(3 + 4i)(3 - 41)

----
9 -16i2

3X-4Xi 3X - 4Xi
=--

9 + 16 25

~
7

15) 7X(2+2...fi{j = 14X + 14X,[X
(2-2.JX)(2+2-{X) 4 - 4X

10) 11(2 - i)
(2 + i)(2 - i)

22 -11i
-5-

22 -11i
4 + 1

-fj7X + 7X,[X)
...2'(2- 2X)

11) 4i(6 +3i) = 24i + 12i2
(6 - 3i)(6 + 3i) 36 + 9

.,...6(8i- 4) 8i-4
~=~

15

16) 3(8i - i.J[)
(8i + i ..,f2)(8i- i..,f2)

24i - 3i.J[
-64 + 2

7X + 7X.JX
2-2X

= 24i - 3i.J[
64i2 - 2i2 enQ.

5-
o·
::l
(f)

--.J
m
eX>
»

24i - 3i.J[
-62


